East Ayrshire Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Kilmarnock East and Hurlford

5,328

4

1,066

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Graham BARTON	Scottish National Party (SNP)	1,501
Graham BOYD	Independent	574
Barry DOUGLAS	Scottish Labour Party	2,053
Trevor GRANT	Scottish Liberal Democrats	74
Jon HERD	Scottish Conservative and Unionist	645
Neal INGRAM	Scottish National Party (SNP)	481
	Total	5,328

Candidate Graham BARTON Elected with 1,501 votes, being in excess of the quota of 1,066 Candidate Barry DOUGLAS Elected with 2,053 votes, being in excess of the quota of 1,066

This report contains the transfers results.

Stage 2 - Surplus of Barry DOUGLAS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BOYD	422	0.48075	202.87650
Transfer to Trevor GRANT	281	0.48075	135.09075
Transfer to Jon HERD	315	0.48075	151.43625
Transfer to Neal INGRAM	281	0.48075	135.09075
No further preference	754	0.48075	362.48550
Not transferred due to rounding			0.02025
	Total		987.00000

This report contains the transfers results.

Stage 3 - Surplus of Graham BARTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BOYD	79	0.28980	22.89420
Transfer to Trevor GRANT	31	0.28980	8.98380
Transfer to Jon HERD	6	0.28980	1.73880
Transfer to Neal INGRAM	1,268	0.28980	367.46640
No further preference	117	0.28980	33.90660
Not transferred due to rounding			0.01020
	Total		435.00000

This report contains the transfers results.

Stage 4 - Exclusion of Trevor GRANT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BOYD	26	1.00000	26.00000
Transfer to Jon HERD	22	1.00000	22.00000
Transfer to Neal INGRAM	3	1.00000	3.00000
Transfer to Graham BOYD	110	0.48075	52.88250
Transfer to Jon HERD	70	0.48075	33.65250
Transfer to Neal INGRAM	22	0.48075	10.57650
Transfer to Graham BOYD	4	0.28980	1.15920
Transfer to Jon HERD	1	0.28980	0.28980
Transfer to Neal INGRAM	13	0.28980	3.76740
No further preference	23	1.00000	23.00000
No further preference	79	0.48075	37.97925
No further preference	13	0.28980	3.76740
Not transferred due to rounding			0.00000
	Total		218.07455

This report contains the transfers results.

Stage 5 - Exclusion of Jon HERD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BOYD	325	1.00000	325.00000
Transfer to Neal INGRAM	16	1.00000	16.00000
Transfer to Graham BOYD	175	0.48075	84.13125
Transfer to Neal INGRAM	27	0.48075	12.98025
Transfer to Neal INGRAM	1	0.28980	0.28980
No further preference	326	1.00000	326.00000
No further preference	183	0.48075	87.97725
No further preference	6	0.28980	1.73880
Not transferred due to rounding			0.00000
	Total		854.11735